HP Connection Possibilities

Ordering Code Port 1: HP-Connection Port 2: PG-Connection Port 3: Other Connections Port 4: Other Connections Port 5: Other Connections Total length, L | For mounting
HP Plate Thread Cone | @D ad L | Thread Cone | gD ed L | Thread Cone | aD ad L | Thread Cone | aD od L | Thread Cone | @D ad L HC8 HC9 2 off M8
8-281 172" BSPP  |120° | 214 | @& | 20 | None - - - - | None - - - - | None - - - - | None - ~ - - 140 232 No
8-282 3/L" BSPP 0° - g6 | 20 None - - - - | None - - - - None - - - - | None - - - - 140 232 No
8-283 | M16 x 15 60° | 5 [62.2 | 12 | None - | - | - | - | None - | - | - | - | None - | - | - | - [ None o e e e Y No
8-284 174" BSPP 1120° [e11.8 [83.2 | 13.5 | None - - - ~ | None - - - =~ | None - - - = | None - - - - 140 232 No
8-285 1/4" BSPP  [120° |e11.8 |23.2 | 13.5 | 9/16"-18 UNF | 60° |43 |82.4 | 11.2 [ None - - - - | None - - - - | None - - - - 140 232 No
8-286 3/4" BSPP 0° - | 86 |20 9/16"-18 UNF| 60° [s4.3 |22.4 | 1.2 | None - - - - | None - - - - | None - - - - 150 242 No
8-287 174" BSPP 120° |@11.8 [23.2 | 135 | 9/16"-18 UNF| 60° |e4.3 |@2.4 | 112 | 9/16"-18 UNF | 60° |@4.3 [82.4 | 11.2 | None - s - - None - - - - 140 232 Yes
8-288 9/16"-18 UNF| 60° [g4.3 |@2.4 | 1.2 | 9/16"-18 UNF| 60° |g4.3 |82.4 | 11.2 | None - - - - None - - - - None - - - - 140 232 No
8-289 | 174" BSPP  [120° |118 |32 | 135 | M4 x 15 60° 27 |o2.4 | 21 | None - | - | - | - | None - - | - | - | None - - - - | wo | 232 No
8-290 /4" BSPP | 120° |211.8 |83.2 | 135 | M16 x 15 60° |e5 [22.2 | 12 | None - - - - | None - - - - | None - - - - 140 232 No
8-291 /4" BSPP | 120° |e11.8 |83.2 | 135 | M15 x 1 0° - | 7 | 10 [ None - - - - | None - - - - | None - - - - 140 232 No
8-292 M16 x 1.5 60° | a5 |@2.2 | 12 M16 x 1.5 60° |@5 |e2.2 | 12 None - - - - None - - - - | None - - - - 140 232 No
8-293 | 1/2"BSPP | 60° | g7 |sk |16 | None - | - | - | - | None - | - | - [ - | None - | = | - | - [None - -] -] - | 0] 232 No
8-294 M16 x 1.5 60° | o5 |22 |12 9/16"-18 UNF | 60° |@4.3 |@2.4 | 112 | M16 x 1.5 60° |85 2.2 | 12 None - - - - None - - - - 140 232 No
8-295 M16 x 1.5 60° | g5 (@822 | 12 None - - - - | 9/16"-18 UNF | 60° |¢4.3 |82.4 | 11.2 | None - - - - None - - - - 140 232 No
8-296 | M20 x 15 60° | g9 |#35 | 1 | None - | - | = | - | None - | = | -] - | Nome - | - | - | - | None - - -] - | w0 | 232 No
8-297 1/4" BSPP 120° |g11.8 [83.2 | 135 | 9/16"-18 UNF| 60° [843 [82.4 | 11.2 | MIL x 15 60° |a7 2.4 | 21 None - - - - None N - - - 140 232 No
8-298 1/4" BSPP 120° (2118 |83.2 | 135 | 9/16"-18 UNF | 60° [g4.3 [e2.L | 112 | M16 x 15 60° |5 222 | 12 None - - - - None - - - - 140 232 No
8-299 3/4"-16 UNF | 60° [26.6 | 83 | 15.8 | None - | - | ~ | - | None - | = | - | - | None - | = | - | = | None o I e e I I 2 No
8-300 M22 x 15 60° (g9 |235 | 14 None - - - - | None - - - = | None - - - - | None - - - - 140 232 No
8-320 M22 x 1.5 60° (811 |5 175 | M22 x1.5 60° |e11 | @5 17.5 | None - - - - | None - = = - | None - - - - 150 242 No
8-321 1/4" BSPP 120° |@11.8 |83.2 | 135 | 1/4" BSPP 120° |a11.8 [23.2 | 13.5| None - - - - None - - - - None - - - - 140 232 No
8-322 M22 x 1.5 60° (811 |a@5 175 | 9/16"-18 UNF| 60° [e4.3 |g2.4 | 112 | M22 x15 60° |e11 |5 17.5 | None - - - - | None - - - - 150 242 No
8-323 1/4" BSPP 120° |211.8 [23.2 | 13.5 | 9/16"-18 UNF| 60° |e&3 |@2.4 | 11.2 | 1/2"-20 UNF | 60° [e2.4 |12 | 10.3 | None - - - - None - - - - 140 232 No
8-324 M22 x 15 60° |29 |[@35 | 14 9/16"-18 UNF| 60° |g4.3 |82.4 | 11.2 | None - - - - | None - - - - | None - - - - 140 232 No
8-325 1/4" BSPP | 120° |411.8 |23.2 | 13.5 | None - - - - | 9/16"-18 UNF| 60° |s4.3 |24 | 11.2 | 9/16"-18 UNF | 60° |[g4.3 |e2.4 | 11.2 | None - - - - 140 232 Yes
8-326 9/16"-18 UNF| 60° |e4t.3 |@2.4 | 1.2 | 9/16"-18 UNF| 60° |gk.3 |82.L | 112 | 9/16"-18 UNF | 60° oh3 |g2.4 | 112 | 9/16"-18 UNF| 60° |e4.3 [e2.4 [ 112 | 9/16"-18 UNF | 60° |[g4.3 |24 | 11.2 140 232 No
8-327 M22 x 1.5 0° - ok 18 None - - - - | None - - - - None - - - - None - - - - 140 232 No
8-328 M22 x 15 60° |11 |[@5 115 | 1/2" BSPP 120° | @14 | ol | 20 None - - - - None - - - - None - - - - 150 242 No
8-329 M22 x 1.5 0° 212 - |18 None - - - - | None - - - - None - - - - | None - - - - 140 232 No
8-330 1/4" BSPP 120° |e11.8 |83.2 | 13.5 | None - - - = | None - - - - None - - - - None - - - - 140 232 Yes
8-331 M22 x 1.5 0° |8205| - | 30 None - - - - | None - - - | None - - - - | None - - - - 140 232 No
8-332 9/16"-18 UNF| 60° |s4.3 |@2.4 | 11.2 | 9/16"-18 UNF| 60° |84k.3 |82.4 | 11.2 | None - - - - None - - - - None - - - - 140 232 Yes
8-333 1/4" BSPP 120° |#11.8 |@3.2 | 13.5 | None - - - = | None - - - - 174" BSPP 120° |#11.8 |3.2 | 13.5 | None - - - - 140 232 No
Antal Benavnelse Materiale Dimension Issue Matr. kode nr.
Kndring Dato Navn Overflade
New issue 22-12-10 LH Udv.ml:-, Indv.mal:+, Afst.x
8-329 & 8-330 added | 18-02-13 | L.H. [ewc| ™6 [630 | fog |G |duug |Seorperenterbrydes
HP Connections 0.D. Tubing Thread 8-331 & 8-332 added 17-06-16 LH T‘foﬂ“ 005 1 010 | 05 | 020 | 030 fingcatningsdybde
HF2 1/8" 1/2"-20 UNF 8-333 added 13-03-20 L H. En’ode(. 010 | 020 | 030 | 050 | 080 =
HF L 9/167-18 UNF BSP corrected to BSPP | 13-03-20 | LH. | ||| |w | 20
HF6 38 3/4-16 UNF Replace Sl [ BHCS High Pressure e o AL et
imension drawings. :°"S"- Leif Hansen | - miniBOOSTER®
HC8: 8-120-1 onf. Connection Possibilities HYDRAULICS A/S
HC9: 9-120-0_ apored. | e, |
pato | 29-11-2000 No: B-900-14




